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| CAN APPLY STRATEGIES TO FIND LOWEST COMMON MULTIPLES AND COMMON DENOMINATORS

e AN [‘)'\t Ple is the product of +WQ integers.
e To find multiples _nAaw| "n‘.‘)l,u. that number by every integer, starting with 1.

oxi oxz.d 10k3 10X
Example 1: Multiples of 10are 10, A0, 30 , 4D , 50, 60 40 ..

¢ Common multiples are numbers that share +WO  or more of the Sounwe multiples.

Example 2: multiples of 10: 1D, O , o SO @
Multiples of 15: 15| éo ), ‘15 ,0) 15, 90,
%O and G:O appear in these lists, so they are Commsn mu l'l'l‘?\.ﬂsof 10 and 15.

+ Least Common Multiple (LCM) is the SYIMLJ l€s+ common multiple of two or more
numbers.

¢ From example 2, the LCM of 10 and 15 is 5! 2
® LCM can be found by listing all the multiples and looking for the sm/{e,s{- common
one in the lists.

Example 3: Find the least common multiple of the numbers below.

a) Multiples of 9: 9 _lS , A+ , 36 @ : 5_7

Multiples of 15: /5 ,_%0 ,@_, E)O , 7Y QO
The common multiple is 4s The LCM is ‘15

b) Multiples of 20: A0 , YO @) go ,[00 @

7 -
Multiples of 30: _ 20 @_O\) , 20 @) 1SO l&O
\—— \——
The common multiple is EOQLZD The LCM is éO

¢) Multiples of 10; O ) ,30 , Y0 ,SO ,60 )?0)8(2)90
Multiples of 20: 9\0 , ‘-{O , 60 , K0 , IZ'O

Multiples of 50 % © @ (SO0 ,a00 , &50,300
The common multiple is__ (OO The Lcmis 00D
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LOWEST COMMON DENOMINATOR

e To add or subtract fractions with different denominators we have to convert them so they have
the __ So e or _Commn e\ denominator.

1) Finding the Lowest Common Denominator (LCD),.

a. Findthe _ynu L4+ ? \e_s by listing the multiples for each denominator.

1 1

32D 2,6,9,12,15 1=p 4, %,12,16,R0

b. YourLcMis | QL Go‘?)

c. Convert your fraction to its equivalent by multiplying your and
by the same number using the lowest common denominator.
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d. Add your equivalent fractions.
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You Try: Find the common denominator for each pair of fractions and convert them.

a) tand? 2 2,4,0(8) b) Zand?  LCH: 99
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